Instructor: Dr.R.A.G. Seely
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Practice Assignment 2A

Algebra & Functions (Maths 201-016)

Linear Equations

Solve for x or explain why there is no solution.
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r—8=
dr = 32
—4=x+11
942z =1
3z —7=28
10—z =20
—19=17 —4x
l—z=
%x:9
1-5=-3
14z +28 =0
1-72=0
7+ 3 =10
r=x+1

T =2

3(z+1)=2x+1)+5

A4 (1-a)(-T)=2(x+1)—5+5zx
8(1 —2x) = 4(1 —4x) +5

120 4+2=4—-2(1—22) + 8z

3(7 4 5z) = 37 — [5(x + 2) — 1]
-9+ [7(3z +1) — 11z] = —2(1 — 5x)

6(4z +8) = 12(x + 4)

x r __
5+35=5
2z _ =z
3~ 5
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_ 42 x _ —x—3 2—z
8 +3 -6 + 4

6x +8 =43z — 2 —2(z +1)]

z+2 z—6
5 T 4

(352 +100) — (z —2)—12=0

0
3(7T -2z +2?) =14+ 322 — 8(x — 1)
fo—1=1G 1)



Answers 31. —4
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13 2
32. ¢
8 33. —12
—15
34. 38
—4
35. 68
2 4
3 36. 3
—10
11
37. 5
9
14
0 38. —11
6 39. z = any real number
1
8 40. §
-2
37
41. 5
1
7
2
No solution.
0
4
x = any real number
No solution.
x = any real number
2
3
x = any real number
0
6
0
—4
2
8
5
10
11
No solution.
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